EEERELARMBIAISEEAHI]

R[S

2’77(7:')—7747)

- 58 'FEE?E EASEEE]

k3
lﬁiﬁ? E%l/\» I:Tﬁﬂri%w\»

XLEZREBBETHEEZRETECVESE. BX. BR. RRBLESDE-RFETEAL

*5EA
BRFE: A ERFE A BEAEHE (FHEELL) A
@ GBI FEEFR (10adp1=Y)

B 18 3H 4R 5H 6H 71H 8H 9H 108 118 128 e
ﬂzg% Ll FlE|F|F|E[R|F|E][F|[F[E[R]TF H|F | Tl E|f|FlE][F|F[E[f|F|E[p|F[E]F =R
BiE 0.0
FRE 0.0
o 0.0
SBAE 0.0
Unie - SR 0.0
HZE 0.0
#EDF 0.0

0.0
0.0
0.0
0.0
0.0
0.0
& &t 0.0
XFH BRI, AR EEFHOAHTLE,
S
o505 — (235 ) EEH. NEBHERH. \UI—FTADET . BISVIED
S EFHAR R UFRINEE
B [ | [ 4H [ 5H [ 6H [ 718 [ 8H [ 9H [ 108 ] 1A ] 12H B
) J:IEFITILIEPI‘FIJ:I4=|‘FIL|¢'I‘F|J:I4=I‘FILIEPI‘FILI*I‘FILIEPI‘FIJ:Iq=|‘FIL|EPI‘F|J:Iq=I FlE[HR[F OZE
Ht
O:EHE
EfHAR (0] E E EEEER WURFE
IR & (kg/10a) 132 364 29 525
B {fi(FM/kg) 1,000
25(M) 0 0 0 0 0 0 0 0 0 0 0 525,000
B 0
B 525,000
SIEHEE(0adpzY) EER00adH1=Y)
[oEa BE i FRER E3a &R E RE 33
BT 1000 1 24,730 K 1 10,000
0
St 24,730 S&t 70,000
@ IE¥ E(10adp1=Y)
[oEd FRAEkKe HRIg ity BRI E3] OEH,\L\iﬁﬂ(waﬁ)LU)
EMECHF-L 180 15 450 30 5400 MR5ca EX]
25T IIR 2595 3,930 'ﬁﬁhf‘ﬁ 3524
e 170 20 1150 575 9,775
L HHS 15 B 0 Sit 3524
0
0
0 SFEYEE(10adH 1Y)
[T il HE 8 |
St 79,105 [ 25 1,880 4,700
KEBE=[EHE x EEEHE [ERr—IL 25 1,880 2,700
QT DIhEEMFIE(10adp1-Y)
e R i = FRER E3
INA ST 2.1%200 10,960 37 3 13,517 &t 9,400
TILFRUR 17 880 3 4,987
ZDith
[ ——— 9 X 35 80 3 1 240 S ZTDDER N
NEER 180 L2 EXl
HHIASTRAE
&t 18,924
NEE=—HlxYE-FHAEH &t 0
S EEH(0aHY)
e fikd 0] [EES ThE B Ex] QOEEEE10aHT=Y)
0 =] E3
0 [EEE] 24,730
a5t 0 EHE 19,105
ZTOMEN R 18,924
S HHBKENCaSHIZY) BEEE 0
E3 ki Efi] = [EaEES 2] SEEh] 18,380
EPDPN 3 1 18,380 EEH 10,000
1 0 TIOFEH 3,524
1 0 VB E 9,400
1 0 [(ZDHDER 0
1 0
1 0 a5t 104,063
a&t 18,380 EEEEITAHEOAHTLH




